’:-EE ‘o ==-n|
5o BINGR R T SF %A F

16™ International Mathematics Primary Contest (Taiwan)

B = &%l

FHEEBLERED
- i EBE(FE 10 A~ 0 X 250 &)

( B)loktk=0 " kXO=98 ©-%k=? (A)6 (B)7 (C)8 (D)9
<f%$7>

* X ©=98

Y X2 X k=98

*=7 > ©=7+7=14

©-%=14-7=7 » £ B o

( A )2 %2019 &4 55%3%21(;%”3/15%"?”%4’%%—1*‘%‘-’37
PA#T R Fdig 3 X P P Bodp e o frlich]4F 25T 31
ROl SEE A S p w je?
(A)3*2p BR*15p (C4* 13 p (D)5* 67F

<f%$7>

BF 2 foF3 0 R Y B

30120 5 831125 2 128~ 1~2(F &)

W p PpHE 3T 2P 0 E A

(C)3 }%5,@;] ,”"l;}’:q:,\. l@;"{{'ﬁzla”lt—g«
S A £ A4 DA JUl £ A £ S
Do ?

(A)20 24 (B)21 24 (C)22 24 (D)23 &4

<f%$7>
4A+4B=44
2A+2B=22 > % C - A A




(D)4 A4f-B A&Vaj%’ﬂ{ﬁz%“- 1~9 ¢ ch— B#F > ¥ ik &
(A+B)*B=4 > £ AXB#?(A)3 (B)12 (C)27 (D)36

<f%+7>

(A+B)+B=4=>A+B=4B > A=3B

(A>B)=3-1)~(6"2)~09"3)

AXB=3~12 & 27> D -

( C )5.Anice cream costs $35. A bottle of cola costs $12 less than an ice
cream. If it’s on sale, the two items cost $50. How much money can
be saved if the two items are bought if that’s on sale?
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( C )I10. The difference between two number is 199. Add 50 to the smaller
nurnber and subtract 50 from the greater number. Find their difference
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( C )15 Joe wrote a set of three digits on the blackboard. The sum of the
number is 24. How many the three-digit are there such condition?
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3. On a farm, there are 15 more goats than ducks. There are 180 animals’ legs

in total. How many animals are there on the farm?
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